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all b= commandwindow ===

2 — clear

b cle

4= cloae all

- By aymsa m !

6= ansﬁdanlvut 'Dm+0.025*m=50+50%sin(t) "', "'m(0)=150")
b S t=0:0.5:450

B - tn=subs (ann, t)

9-  plot(t,tn)

_® Command Window il
—‘ MNew 1o MATLAB? See resources for Gelting Started.
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tn =

[ 150, 2000 - (2000#1601* (1/2) *cos(atan(1/40) + 1/2)) /1601 - (2881850%exp(-1/80)) /1601, 2000 (2
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close all

1100

:

mean=1000-( (exp(-0.05"c)) *800)
y=1000+(50/1.002%5) *sin(c)+(2.5/1.0025) *cos(c)~( (exp(~0.05%t))*802.4

Af rem(tc,2) ==0
values=[values, mean)
else
values=|[values, y]
&nd
eNcelvaluss=cranspose (values)
mins=cranspose (tT)
plotic,values)
grid on
grid minoz
xlabel ('‘cime(mins) ‘)

volume(litres)

¥ 8 88838s

e yrr

i

ylabel("volums (licxea) ')
50

xlawrice ['cdevbesdata.xlax', {'c(man) '}, *veriler’, *ALlY)
Mlawrice|'cdevbasdata.xlax' mins, "veriler®,‘h2")
mlswrite ["cdevbesdata.xlsx', {*V(Liczre) '), "veriler','B1")

xlswrite ['odevbesdaca.xlsx', excelvalues, "veriles', '82")
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